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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) ufteneff wewaw 39 we U W A Hhaa: ol

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2)  wet weR we stEr g
All the questions are compulsory. |

3) mmwmzﬁném-giﬁmﬁﬁﬁ“—r@ll —_
Write the answer to each question in the given answer-boox onty.

4) o wvl 1 s @Ue 3, T i & I O @ fordl

re than one part, the answers to those parts are 1o be

1110

For questions having more
written together in contunuity.
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s - A
ECTION - A

Ffarwedt W\ (i @ xvi) Pafalen vl & sw = of eee wam w swgfen § fafto)

Choose the correct answer from multiple choice questions. (i to xvi) and write in given
answer book.

1) ) R-weghma dfa w g ) V4]
A) T q) W
w) "R q) I

An example of a non-albuminous seed is

A) Wheat B) Maize
C) Pea D) Castor
)  HEE wAT ° uihmet & 9@ e W g (V2]

H)  FEHEA —> TR Tt — A —> Joia o

q)  FEEA — FEHA —> TS Horad —> yoiia aiad

q) yofta dRadt - gmesE - e — WS Jead

T  PWS dead —> yuitg afat - e — gEa
Choose the correct sequence of processes in human reproduction: o
A) Gametogenesis —» Gamete fusion — Zygote — Embryonic development
B) Zygote - Gametogenesis — Gamete fusion — Embryonic development
C) Embryonic development — Gametogenesis — Zygote — Gamete fusion

D) Gamete fusion — Embryonic development — Gametogenesis — Zygote

iii) frofefias O A S afensi § Sorwn & i g2 [v:]
H)  OTAH q)  Afew-Ied
[) g q)  RAEH-IE

Which of the following is sterilisation process in females?

A) Qogenesis B) Tubectomy -

C) Spermatogenesis D} Vasectomy
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iv)  Eroe srgafies wanel R 3a an § geae s, wER dmeRt @ s A o g [v)
#H) YAEEA 9 ¥R q) Ao a FEfer 2o
) theaE Wed 9 J9 1 2) ke g a et u|
The unequivocal proof that DNA is the genetic material, came Frrml Irvhc]
experiments of which scientists.
A) Schleiden and Schwann
B) Mathew Meselson and Franklin Stahl
C) Francois Jacob and Jacque Monod
D) Alfred Hershey and Martha Chase’
v) DNA ¥ =i Tggiet or SiRa Tegra! gR | g g 2 [%]
¥®) wha q)  wEE
q) unm 7) @
Which nitrogenous base pairs with guanine nitrogenous base in DNA
A) Adenine B) Cytosine -
C) Thymine D) Uracil |
vi) =i B i e § - 4]
A) o |)  wuEWR fwE
q) e R 3) TwRE RAwm
Darwin's finches is an example of
A) Convergent evolution B) Parallel evolution
C) Adaptive radiation ° D) Chemical evolution
vi) e wfaim g - [e:all
o) i q)  wefE l
w) anfler 3) Uehfm
Bacterial disease is
A) Diphtheria - B) Malana
C) Amoebiasis D) Ascariasis
SS—42-Biology 5034
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viil) FraferReas # & S geca s sra w5 e war e - [V3]
) vEREE v a)  sEifEan sgeEteen
|)  SeRatee s ?) Yl TEm
Citric acid is produced by which of the following microorganism.
A) Acetobacter aceti B) Clostridium butylicum
C) Lactobacillus species D) Aspergillus niger -
ix) Ut At ww forar s @ - [¥]
H) wHI® ) W U
|) gigen 3) W
Agarose gel is extracted from -
A) Fungus B) Sea weeds"
C) Hydrilla D) Wheat
x)  a shehfir g daw e Tee d TR A E - 4]
3) Rt A a) fafm D'
w) fRefm 'K 3) RaftmE
"Golden rice" developed by biotechnology is rich in-
A) Vitamin'A' - B) Vitamin'D'
C) Vitamin'K' D) Vitamin'E'
xi) Wl T W T s @ W - Al
H) TR, ISEARH w) T, HOEE
| W R, ERe 3) TR, IR
Correct set of processes which decreases the population density are-
A) Natality, Emigration - B) Mortality, mmigration
C) Natality, Immigration D) Mortality, Emigration-
$S—42-Biology 5034 farnn
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xii) wmfe et e, R At afeat e g 2 -
A) Ot a)
|) W 2)  mEaw
Population interactions, in which both the species get benefited.
B) Competition

A) Parasitism
D) Predation

C) Mutualism
xii) T fafifa aftds &1 sgEm 2 -
) HEEA ) afear
") &R ASHE ) A Ay
An example of man-made ecosystem is -
A) Desert B) Rivers
C) Estuary D) Aguarium-
xiv) @ FEAH & TrHfaw SaEaY Y FEd 8 -
) ER A ) ol mEd
d) ONor &R a) ScdTEhdl

The natural interconnection of food chain is called.
B) Standing crop

A) Food web
C) Trophic level D) Productivity
xv) & aﬁm%mﬁﬁmﬁwﬂmﬁﬁﬁwmﬁm&aﬁmw o
) 1990 F) 2002
|) 2010 3) 2020
ble development held in Johannesbt

When was the world summ it on sustaina
a? https:waw.rajasthanboard.com

South Afric
A) 1990 B) 2002
C) 2010 D) 2020
xvi) glewie &1 IO -
31) I WRAY AgA g) efuft urda deH
w) Zgad q) Ruw=
Example of a hotspot is -
B) SouthIndian Plains

A) NorthIndian Plains

C) Tundraregion D) Himalayas-

5034
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7) fram wrwl $igfd R
Fill in the blanks :

l] ﬁﬁw%mﬁﬂﬁﬁm ............. a:fﬁﬂ?ﬁal il‘/ll
The central cell after triple fusion becomesthe __ .
i) FEIEt % AR ST | IEfa HSU] R MR FA H .o, HEEG ER A [

help in collection of the ovum after ovulation.
1ii) Fzﬁﬁ%ﬁﬁ%mﬁuﬁm%%uﬁaﬁiﬂ%ﬁﬂﬁﬁwzﬁ%ﬁﬁﬁw ¢
T E ..oeoaennn. BEC 2 (%]

To determine the genotype of a tall plant in F,, Mendel crossed the tall plant
of F, with a dwarf plant, this is called a

iv) ST am g FEA-TEA A Feafeada 3= g 2 [%
Deletion or insertion of base pairs in DNA cause mutation.

V) eeeeeeannnns ﬁlahm%fa:un&ﬁmﬁa(gmﬁa:aﬂ)aqﬁrﬁaﬁzm'
{ﬁm]g@nzﬂ?ﬁﬁ,wﬁ@tﬂaﬁa@ﬁﬁﬁﬂmfﬁnmﬂﬁl [72

principle says that allele frequencies ina population are stable arn

is constant from generation to generation.

V) DT TR SErAla Gt & arfierar I gar 2l [
__________is a protozoan parasite which causes amoebiasis.

vi) aadifen gr fnfoaa ame A el swh waet ¥ searen & wro a2l
The puffed-up appearance of dough fermented by bacteria is due 10 th
production of gas.

viii) morfres Fefl e TR A L. Wﬁ@mﬁﬁw&ﬁﬁﬁmﬂmaﬁ

/WH@HEE'II

The cutting of DNA at specific sites became possible with the discovery 0O

the enzyme called as molecular SCiSSOrS. .
. . 1l
ix) fafmftmmguaeag eI . wgd ¢l
The toxin is coded by a gene named . (%]
X) WA UTe % 3evd & anhreed hefthe e aﬁﬂﬂm“ﬁﬁﬁmﬂm' s i.n
. )
Introduction of the African catfish __| for aquaculture purp
our rivers.
B0
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3) Frferiaa uwl % s o vieg s v Ui d die
Give the answers of the following questions in a word or a line.
)  FETAA ! aftefea S [1]
Define apomixis.
i) frgR o fm Rufo = ver i) (1]
Write type of sex determination in Grasshopper.
i) omuAT (RNA) = ag yar faRan ot vt aneti & ™ & Satieh §e & U3 &M
w2 | 1]
Write the type of RNA which brings aminoacids and reads the genetic code,
iv) DNA # 3ffaeangs 9 wiehe Tg & dr< saferm su %1 am ferreu| [1]
Write the name of bond between phosphate group and nucleoside in DNA.
v) Pl gtewa aea 6 Runi e s e oy (11
What was the approximately brain size of Homo erectus man?
vi) graeaa @ ffe (1]
Write analogy.
vii) =g wftren = afenite Hif (1]
Define active immunity.
viii) ¥8 TR ¥ forg I A frg T S ggia @ fafan (1,
Write the name of microorganism used in bread making,
@ug - o
SECTION - B
AYIAAT TR (I s W 50 W)
Short answer type questions (Answer word limit 50 words) :
4) TEUTE R ETEE W v Ak 1
Describe the structure of megasporangium.
5) Uw TOTEN Y FIIT He H AR R T [t

SS—42-Biology

Draw labelled diagram of transverse section of a pollen sac.

5034

https://www.rajasthanboard.com




9
6) RIS WA TRl o g € vergwor ffm | [+t vi=1Y3]

Write any three examples of assisted reproductive technologies.

7)  ETE-HITRT AT U T SR TWE R [1%]

Explain reason of sickle-cell anaemia disease.

8)  srqul sfaren St g aren we i R ag) [1%]

Draw a Punnett square diagram showing the incomplete dominance.

9) arfEEas SUER § geashal S gie wEngul [1%]

Explainrole of microorganisms in sewage treatment.

' 1) amiiTe wea o At s @) (1%]

Draw a labelled diagram of biogas plant.

1) wur Fifveei § Aarg e w5 @ e 6w A w b [1%]
Write one method of introducing foreign DNA into host cells.

12) 3. Fremg st Hargs pBR 322 w1 R sl [1%]

Draw a diagram of E. coli cloning vector pBR 322.

13) mﬁﬁm%@|waﬂﬁmﬁ@ﬁm@mﬁml [1+Y:=1%]

Define transgenic animals. Write one benefit for man by transgenic animals.

14) i K urfies ggem &0 § sy firem waite R TER TR 8, I T “”[511';?‘;
Explain with an exam ple, how molecular diagnostic techniques are helpful in early
diagnosis of the diseases.

15) war s w e e e 7]
Explain In situ conservation by giving an examp le.
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Qug - H
SECTION - C

Felavlia v (I w=g € 100 v1sg) -

Long answer type questions (Answer word limit 100 words) :

16) YA ) WHET 31
Explain spermatogenesis.
Sea/OR
vie] o Frafeifaa wrr & @ fofa) [1+1+1=3
) o
i) HErEE
i) 9B
Write the function of following parts of sperm -
i) head
ii) middle piece
i)  tail
17) e 9 sweAe & @@= A foRag) [1+1+1=3]
Wirite three differences between DNA and RNA.
Fua/OR
fr=feifiaa & =m ¥ faRael [1+1+1=3]

) g wE A A AR Rl

ii) ﬂmmﬂﬁﬁﬁﬁmm@ﬁmm@
i) ST we fra degm % g g g

Write about the following.

i)  Genetic code that has dual functions.

ii)y A segment of DNA coding for a polypeptide.
iy Fragments of DNA joined by which enzyme.

| 18) dwm i (i) W 9f o A

[3]
Describe the logistic population growth.
aean/OR
aufe & s § gyl R faiae) [1+1+1=3]

Write three important characteristics of a population.

SS-—42Biology
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TS - §
SECTION - D

ErareTTer e W9 (W Weg /i 150 vie) ¢
Essay type questions (Answer word limit 150 words) :

19)

20) |

)
i)

i)

AIDS =t g 7w fefam)

HIV deemun % ar afds Rl

HIV dahwor 6t deem =t sur foRael

Write full name of AIDS.

Write four ways of transmission of HIV infection.
Write a way to prevent HIV infection.

[1+2+1=4]
Fuai/OR
gt gema @t utenfim Sk
gew IEe @ S JER T AR T HiRkm)
Fm % fdt T Fww =t e
Define contact inhibition
Explain the difference between benign tumors and malignant tumors.
Write any one cause of cancer.
[142+1=4]

Yz wrerfies SeAEET T uftive Hifvm)

i iR wea WS avawen # A @ wie 'R

Define net primary productivity.

Explain with diagram that the pyramid of energy is always upright.

[1+3=4]

srear/OR
feorm et o1 W) e v AR
T e TR § stagey i afiean & el SRet ® 'eeel
Define standing crop. -

- . tri
Explam Important SthS in the pl‘OCESS of decomposition ina terres
ecosystem,
(1+3=41

> > >

https://www.rajasthanboard.com



